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1.Analogue Computer is not useful for measuring

a) Voltage b) Temperature c) Pressure d) Cash
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2. Speedometer is an example for
a) Business purpose computer b) General purpose computer
c) Analogue computer d) Scientific computer
3. Hybrid computers combine
a)Desirable features of analogue computers and calculators
b)Non desirable features of analogue computers and digital computers
c) Desirable features of analogue computers and digital computers
d) Desirable features of scientific and business purpose computers
4. The limitation of analogue computers is
a) They give approximate results b) They give accurate results
c) They require air conditioners d) They require lot of space
5. The advantage with digital computer is
a) They give accurate results b) They require air conditioners
c) They give approximate results d) They require lot of space
6. Which one of the following is not a characteristic of special purpose computer
a) They can do only a specific work b) They are very expensive
c) They have versatility d) They are used in house hold appliances
7. Complex navigational problems can be solved by
a) Analogue computers b) Hybrid computers
c) Business purpose computers d) Special purpose computers
8. Pay roll processing and image recognition can be done simultaneously by

a) Analogue computers b) Special purpose computer
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c) Calculator d) General purpose computer
9. A special purpose computer can be changed as genral purpose computer by
a) Redesigning the circuits b) Redesigning a network
c) Redefining the input d) Redefining the output
10.Which one of the following is not true about a scientific purpose computer
a) Small input b) Small output
c) Simple processing d) Thousands of computations
11.Which one of the following is true about a business purpose computer
a) Small input b) Small output
c) Simple processing d) Complex calculations

12.Which one of the following is not true about a business purpose computer

a) Large storage capacity b) Millions of transactions
c) Very complex calculations d) Very simple calculations
QSogearen
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